214A

3
(F

'.u.'u'.:hJL-'— P i

|
|

AFITIY

4 b’.uuu_.x- th' L.-&Mé,-w t}‘.ﬁl' P Lt Y J!Ib
(35} coens plel

gt el g s
T R i g P

J.P": R ot hes

AP Jva Jota aiwg.gﬁ b gl ool )15 50 399 (69535 9903

IYAF O (i (o0d | 45 godmo

] LB 1Y Rkl g Mo Tl ik %
e e e ettt reeoeteieeie ey oottt ettt el T
g 35 les g 3l Gl 2lge ylade
0 skenit U] o jlei 31| J1own olowi sl Nga o,

r 1 ) 4 [l i g pmgas g3 | )

& N T odigs ol g il | ¥
I T Y. M sty [ F
4. ¥ Y. M oms gal [F

wdige s pwilye slaual) HSE awsl ey degame

1. LA T &

313 (Ghhe o pai yael il
W nsaid jL'.‘lt..n ubﬂuml.n _51 ealaz!

@%%%%%ﬁ%@%@@@@ﬁﬁ%%

%@%%@

Ap o oLy Oy o e o b il i o ki e ! e b il Sl oy il slad (-\.\_,4] Gl e o Ry I by e D gl gl iy i




Y i 214A (AR A5 siaiuo | dS g ya0)]

k) rna i g oot (31

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1- By signing these papers, I agree to not ———- any of my company’s financial records to
anyone outside of my firm.
1) authorize 2) articulate 3) divulge 4} victimize

2-  Without an antidote to treat the patient, the poisonous snakebite would prove ------- -
1} vulnerable 2) fatal 3) massive 4) extreme

3-  Stifling a yawn, Jackie covered her mouth as she listened to one of her mother’s -———
stories about her childhood.

1} interminable 2) credible 3) widespread 4) hteral

4-  After learning the lawyer accepted a bribe, the committee decided to ——-- him and
suspend his license.
1} encounter 2) retaliate 3) underestimate 4) rebuke

5-  The government will —-—-- any property that has been purchased with money earned
through illegal means.
1) resist 2) seize 3) eliminate 4) avoud

6-  Now that | have got another offer of employment, which sounds as good as the earlier
one, [ am in a ——-———-- as to which one to choose.
1) necessity 2) comparison 3) postponement 4) dilemma

7-  Since there is a huge -———-- between the results of the first and second experiment, the
laboratory team will conduct a third test.
1} discrepancy 2) autonomy o) randomness 4) opposifion

8 To get a good grade on the research project. you must -——-- vour report with provable
facts.
1) inforin 2) outline 3) substantiate 4) interfere

9-  We thought that the power cuts were temporary and would end but we have now
realized that this is 4 ——---—- prablem and will never end.
1) chaotic 2) perennial 3) fragile 4) memorable

10- Ifa -—— -— answer can provide the information requested, there is no reason to bore a
person with a long response.
1) boundless 2) conceptual 3) concise 4) logical

PART B: Cloze ﬂsmge

Directions: Read the following passage and decide which choice (1), (2), (3). or (4) best fits
each space. Then mark the correct choice on your answer sheet.

It 15 very easy to lead someone’s memory astray. For example, 1f | witness a traffic
accident and (11) ==-=-mmm- whether the car stopped before or after the tree. | am much
more likely to “insert” a tree into my memory of the scene, (12) ---—— no tree was
actually present. This occurrence reflects the fact that when we retrieve a memory, we
also re-encode 1t and during that process it 15 (13) ——-—-— errors.
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Elizabeth Loftus at the Umversity of California, Irvine, and colleagues have shown
that this “misinformation effect” can have huge implications for the court room, with
experiments (14) ——--- - that eyewitness testimonies can be adversely influenced by
misleading questioning. Fortunately, these findings also suggest ways for police,
lawyers and judges to frame the questions (15) === -- they ask in a way that makes
reliable answers more likely.

11- 1)1 am later asked  2) later asking 3) to be asked later  4) later asked
12- 1) even then 2) so even 3)asif even 4) even if
13- 1) a possibility implanting 2) possible to implant
3) possibly to implant 4) possibility of implanting
14- 1) are repeatedly demonstrated 2) repeatedly demonstrating
3) that are demonstrated repeatedly 4) to demonstrate repeatedly
15- 1) that 2) when 3) because 4) even though

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the gquestions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet

PASSAGE i:

Electricity 1s part of our daily living. Modem hiving comfort cannot exist without
electricity. The burning of fossil fuels mainly produces electricity. These fuels contain
many harmful chemicals that pollute the environment. There are other cleaner sources
of energy. The sun is an energy source that we are learning to use. Other sources of
clean energy are geothermal energy, hydroelectric energy, and harnessing the wind
through windmills.

We use electricity many times every day. Electnicity provides us with the power to
operate TV's, radios, computers. air conditioners, and many other things. Electricity is
generated at power plants. It 1s generated by burning fossil fuels or by using renewable
resources, Coal, o1l, and gas are fossil fuels. They are the remains of ancient plants and
anmmals. They contain a lot of chemical energy, which we can bumn to release the
stored energy. Fossil fuels are nonrenewable resources. That means we will eventually
run out of coal, oil. and natural gas.

Fossil fuels pollute the air. The main sources of pollution are power plants,
factories, cars, and trucks. Some gasses released from fossil fuels trap the sun's heat.
This is causing a greenhouse effect on our planet, which means our planet is getting
hotter. Though most of our man made energy comes from fossil fuels, we are
gradually using more and more renewable energy sources. These sources include
hydroelectric energy, which 1s energy from water; solar energy, which 1s energy gotten
from sunlight; and wind.
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16-

17-

19-

20-

Which of the following statements is incorrect?

1) Power plants can be run by both renewable and non-renewable resources.
2) Electricity provides comfort and helps us communicate.

3) We will gradually run out of renewable resources.

4) Electricity 1s generated by power plants.

Non-renewable resonrces are —-—-------— -

1} Geothermal energy productive able 2) Sources that once used disappear
3) non-dependable 4) easily substituted

What resources produce the most electricity?

1) fossil fuels 2) Batteries

3) Windmills 4) Hydroelectric plants

How much are we dependent on electricity?

1} We have an average dependence on electricity.
2) We depend very little upon electricity.

3) We somewhat depend upon electricity,

4) Almost everything depends on electricity,

The last paragraph mainly discusses —--—-—--- ———,
1) hydroelectricity 2) energy sources
3) air pollution 4) solar energy

PASSAGE 2:

Arc welding is the fusion of two pieces of metal by an electric arc between the pieces
being joined - the work pieces - and an electrode that 1s guided along the joint between
the pieces. The electrode is either a rod that simiply carries current between the tip and
the work. or a rod or wire that melts and supplies filler metal to the joint.

The basic arc welding circuit is an aliernating current {AC) or direct current (DC)
power source connected by a "work" cable to the work piece and by a "hot" cable to an
electrode. When the electrode is positioned close to the work piece. an arc is created
across the gap between the mefal and the hot cable electrode. An 1omized column of
gas develops to complete the circuit.

Basic Welding Circuit

The arc produces a temperature of about 3600°C at the tip and melts part of the metal
bemng welded and part of the electrode. This produces a pool of molten metal that cools
and solidifies behind the electrode as it is moved along the joint.

There are two types of electrodes. Consumable electrode tips melt, and molten metal
droplets detach and mix into the weld pool. Non-consumable electrodes do not melt.
Instead. filler metal is melted into the joint from a separate rod or wire.

The strength of the weld is reduced when metals at high temperatures react with
oxygen and nitrogen in the air to form oxides and nitrides. Most arc welding processes
minimize contact between the molten metal and the air with a shield of gas, vapour or
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21-

22-

23-

24-

slag. Granular flux, for example, adds deoxidizers that create a shield to protect the
molten pool, thus improving the weld.

We understand feom the text that the word "fusion” is closest in meaning to -——-—--—- —
1) producing 2} guiding

3) melting 4) welding

The word "work" as used in the passage refers to -———-—- :

1) welding 2) melting 3) guiding 4) producing

The underlined "This" in the passage refers to -—-——--—---- -
1) the melting of the electrode

2) the melting of the metal and the electrode

3) the production of a high temperature

4} the melting of the metal to be welded

We understand from the passage that it is necessary for an electrode t0 ———————- in
order to be consumed.
1) detach 2) join 3) melt 4) mix

We understand from the last paragraph that oxidation of the weld lias to be minimized
because it ------ ———

1} munimizes the contact between the two metals

2) reduces the strength of the weld

3) reacts with oxygen and nitrogen

4) adds deoxidizers

PASSAGE 3:

Cathodic protection (CP) 15 a techmque used to control the corrosion of a metal
surface by making it the cathode of an elcctrochemical cell. The simplest method to
apply CP 1s by connecting the metal to be protected with another more easily corroded
"sacrificial metal” to act as the anode of the electrochemical cell. Cathodic protection
systems are used to protect a wide range of metallic structures in various
environments. Common applications are: steel water or fuel pipelines and storage
tanks: steel prer piles; ships and boats; offshore o1l platforms and onshore o1l well
casings and metal reinforcement bars in concrete buildings and Galvanic anodes are
designed and selected to have a more "active” voltage (more negative electrochemical
potential) than the metal of the structure (typically steel). For effective CP, the
potential of the steel surface 1s polarized (pushed) more negative until the surface has a
uniform potential, At that stage, the drving force for the corrosion reaction is
removed. The galvanic anode continues to corrode. consuming the anode material until
eventually it must be replaced. The polarization is caused by the electron flow from
the anode to the cathode. The driving force for the CP current is the difference in
electrocheniical potential between the anode and the cathode.

We understand from the text that "cathodic protection” is based on ————-—--—--—-,
1) electro analysis 2) electro plating
3) galvanizing 4) heat treatment



F dmiue 214A (AR A5 siaiuo | dS g ya0)]

27-

28-

29-

30-

In the passage, the "sacrificial metal” is called so be because it ——-———-- =

1) changes into ions to cover the cathode

2) 1s protected by the cathode

3) 1s sacrificed

4} 1s corroded

We understand from the passage that water pipelines have to be protected against
humidity becanse ——--—————- .

1) humidity is the main source of corrosion

2) pipes are made of corrosion — free alloys

3) they may be laid underground

4) they may have leakage

"The driving force" mentioned in the passage refers to --—————-- ‘

1} polarization of ions 2) ionization of metals

3) the electron flow 4) consumption of electrons

We understand from the passage that "steel” cannot be used as the anode because it -———
1) does not polarize 2} is not a galvanized metal

3) has a low repulsion 4) cannot be 1onized
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